Section—-C 2%x14=28

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

Each question carries 14 marks.
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10. What is Audit Report ? Explain its various types.
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11. What do you understand by Bonus Share issue ?
Explain SEBI guidelines for issue of Bonus Shares.
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12. Explain the provisions of Section 44AB of Income
Tax Act as regards tax audit.
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13. “An investigator should work as a blood hound.”
Explain.
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Note .— The question paper is divided into three Sections

A, B and C. Write answers as per the given
instructions.
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Section-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the

questions delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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BC-14/4 (2)

. (1) What is Collateral Voucher ?
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(i) Define ‘Audit’.
‘aTehemor’ i TR AT
(ii1) Give any two disadvantages of continuous
auditing.
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(iv) What is Vouching ?
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(v) State any one difference between accountancy
and auditing.
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(vi) Name the rwo aspects of cost audit.
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(vii) What are secret reserves ?
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Section-B 4x7=28
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
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. “Vouching is the backbone of auditing.” Explain.
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. Explain the different techniques of management

audit.
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How would you vouch the following ?

(@) Capital Expenditure

(b) Managerial Remuneration.
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. Draft an audit report of a partnership firm.
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. Write a note on Performance Audit.
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. How will you verify the following ?

(1) Goodwill

(ii)) Machinery.
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. Discuss the limitations of audit.
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. Explain Rights and Responsibilities of Auditors.
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